HILLCREST HIGH SCHOOL

Name _____________________________  9/15/06         Ms. A.P.Guerrero

I.  Answer all questions in this part.  Each correct answer will receive 2 credits.  No partial credit will be allowed.  Record your answers in the spaces provided. Write only the corresponding number of the correct answers.

_______ 1. The perimeter of an equilateral triangle varies directly as the length of a side is doubled, the perimeter of the triangle is 

                    1) halved        2)  doubled     3)  multiplied by 3    4) divided by 3

_______ 2. The value of   6!  Is

                     1)  1/6     2)  6       3)  720    4)  20

_______ 3.  Which statement is logically equivalent to “If I am not hungry, then  I did eat”?

1) If I did not eat, then I am Hungry.

2) If I am not hungry, then I did not eat.

3) If I did not eat then I am not hungry.

4) If I am hungry, then I did eat.

 _______4.  What is the approximate circumference of a circle with radius 3?

                    1) 28.27    2) 18.85    3) 9.42    4)7.07

_______5.  What is the smallest integer greater than 1 that is both the square of an integer and the cube of an integer?

                      1)   8        2)  9      3)  36     4)  64

_______6. The approximate number of seconds in a year is 32,000,000  When this number is written in scientific notation, the numerical value of the exponent is

                     1) –7      2)  7    3)  6     4)  8

______ 7.  What is the greatest possible number of points of intersection of a triangle and a circle?

                   1)  4       2)  6      3)  3     4)  2

______ 8.   What is the slope of the line  parallel to the line whose equation is 2y = 5x + 4?

                    1)  2/5      2)  5      3)   2      4)  5/2

______ 9.   In the accompanying diagram, ABCD is a straight-line, and angle E in a triangle BEC is a right angle.                              B

                                               a0 b

                                                                          C

                                                E                   d0                       

                                                                                 D

       What does  a0 + d0  equal?

                1)  135      2)  160     3)  180    4) 270

______10.  When Tania bought a new car, she found that there are 72 different ways her car could be equipped.  Her choices included 4 choices of engine and three choices of transmission.  If her other choice was color, how many choices of color did she have?

                  1)  6      2)  12     3)  60 n  4)   65

_____11.   What is the measure, in degrees, of each exterior angle of a regular hexagon?

  1)  45     2)  60   3)  120   4)  135

______12.  There are 12 people on a basketball team, and the coach needs to choose 5 to put into a game.  How many different possible ways can the coach choose a team of a if each person has an equal chance of being selected?

               1)  12P5         2)  5P12   3)  12C5   4) 5C12
_____13.  What is the total number of points equidistant from two intersecting straight roads and also 300 feet from the traffic light at the center of the intersection?

               1)  1        2)  2      3)  3       4)  4

____14.   If 2x + 5 = -25   and –3m  -6   = 48,  what is the product of x and m?

                 1)  -270    2)  -33    3)  3    4)  270

____15.  In the graph of y <  -x, which quadrant is completely shaded? 

                   1)   I      2)  II    3)  III   4)  IV

